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Dip. in Engg. (Second Semester)
EXAMINATION, Nov.-Dec., 2021

(Scheme : NITTTR)

+ Mechani ,Shem CBE.
(Braflcll : P{[cchamcal) Ci;&f SEE LA
APPLIED MATHEMATICS-II; v, ynsy, rein

)
Nmma, Mg X Yk Swvayy, 55 e,
Time : Three Hours ] [ Maximum Marks : 70

[Minimum Pass Marks : 25

Note : All questions are compulsory, unless mentioned
otherwise. In case of any doubt or dispute the -
English version question should be treated as final.
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UNIT—I

(e—1)

1. Evaluate the following (any two) : 2x5=10
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(i) I cos v/x dx
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(ii) I cosx dx

UNIT—II

(§Pr—11)

(a) Prove that : 8

b

jglogsinxdr:“glogz
firg Wi

Fooms piihe LD S ©

I()Elogsinx:dxé—'%logz

Or ..

(areran)

Prove that :

J-n X tan x dx=1t-(£—1)'
0 sec x + tan x
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Find the area. en’clo’sc’d' by the circle
x2 +y2 = q?. V ' 8
qd x2 +y? = 42 @rqﬁa@ﬁammaﬁ
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Or

(ereran)

Find the area of the region bounded by the curves

y-xzandy =x.
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UNIT—II

(f@r—m)
Solve the differential equation : 8

a _ x+y+1
dc 2x+2y+3
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& _ x+y+1
dc 2x+2y+3
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(b) Solve the differential equation : 8

2 dy =
cOS x_.+y_tanx
dx

AT THIGR BT TS DI -
cossz+y=tanx
Or
(erera)

Prove that :

y=x>+ax? +bx+c

S S ot/
is a solution of differential equation Eg- =6.

fog ifere :

y=x3+ax? +bx+c
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UNIT—IV

(EFR—1V)

4. Find a root of equation cosx — xe* =0 by Regula-

Falsi method correct to 3 decimal places. 10
WHTRT cosx-xe* =0 B Jd Ne-wred fafy
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“

Or
(sroran)

Find the value of v12 correct to 3 decimal places
using Newton-Raphson method.

YeANeeE R a7 WM wwvd gv V2 @ Am
TG B 3 WIF TP g TG ST

(a)

(b)

UNIT—V

(FPR—V)

75
Find the value of J.OE\/cosxdx using

Trapezoidal and Simpon’s 1/3 rule by dividing
the'interval into 6 equal parts. 10
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Find the value of I()l 1

dx using Simpson’s

1+ x2
1/3 rule by dividing the interval into 8 equal parts
and hence find the value of x. 8
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. Or

(ereran)

Find the value of I 03 ﬁ—dx using Simpson’s
X , y

~»

3/8 rule by dividing the interval into 6 equal parts.

Reeaert @ 5/8 fow an i e 0L

v 1+x
T A ST P 6 WHE A H T w5y
S DI |

2000272(014) 100

e



